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Q. No. 1. 











           (5)
(a) Simplify complex fraction 
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(b)
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(Fill in the blanks)
(c)
The binomial series of the function 
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Write the first three non-zero terms of the binomial series of the function 
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(d)
Partial fraction: The rational function 
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 can be break it into two separate fraction like 
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(e)
Which constant should be added and subtracted to solve the quadratic equation 
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 by the method of completing square. 

(i) 64 / 9 


(ii) 8 / 9 


(iii) 16 / 9 


(iv) 1 / 9
Q. No. 2. 











           (5)
(a) A regulation doubles tennis court has an area of 260.872 m2. If it is 1.83 m longer than twice its width, determine the dimensions of the court.

(b)
The Maclaurin series for the function 
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Write the only first three non-zero terms of the Maclaurin series of the function 
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(c)
The Maclaurin series for the function 

 is 
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Write the only first three non-zero terms of the Maclaurin series of the function 
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(d)
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(e) ) Simplification of [image: image21.png]sin26(tanx + cotx)
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(i) [image: image23.png]cos6






(ii) [image: image24.png]sing





(iii) 2


(iv) None of the three
Q. No. 3. 











           (5)
(a) 
The value of the determinant is 
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(b) 
Evaluate 
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at 2.5, for given 
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(c) 
Find 
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 for the following equation, 
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(d) When the angle of elevation of the sun is 64°, a telephone pole that is tilted at an angle of 9° directly away from the sun casts a shadow 21 feet long on level ground. Approximate the length of the pole.  

(i) 23 ft


(ii) 33 ft

(iii) 39 ft


(iv) None of the three
(e)
The solution of the linear equations 
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 is 

(i) (2, 3)


(ii) (2, - 3)

(iii) (-2, 3)


(iv) None of the three
Q. No. 4. 











           (5)
(a) 
Solve ABC triangle: having angle (A = 57o and sides a = 15, b = 22, The (B is equal to 

(i) 57o


(ii) 34.8o


(iii) 0o


(iv) None of the above 
(b) 
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 is equal to    
(i) 
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(ii)
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(iii)
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(iv) None of the three
(c)
Divide the complex number and write in the standard form, 
[image: image35.wmf]22

1

i

i

-

+


(d) 
The complex number [image: image37.png]


 can be expressed in the form
(i) [image: image38.png]Z = 5(cos =+ isin
.





(ii) [image: image39.png]Z = 5(sinZ+icos®)
. .




(iii) [image: image40.png]Z = 5(cos=—isin
.




 (iv).None of the three
.
(e)
To solve an oblique triangle by the law of sines, we need either (encircle the correct option).

(i) Three angles, 



(ii) Two sides and the included angle, 

(iii) Three sides 



(iv) Two angles and one side 
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